13.1) Integrating x™



Worked example Your turn

Find f(x), given that f'(x) = Find f (x), given that f'(x) =
x* x°
1
Yy = EX6 + C
X3




Worked example

Your turn

Find y, given that Z—z =
3x*

—2x3

5x*

: . dy _
Find y, given that =

y:

—3x°
1
6
——x6 +
S X0+



Worked example Your turn

Find f(x), given that f'(x) = Find f (x), given that f'(x) =
NE: Vx
5 6
Yy = EXS + C
Vx

Vx




Worked example

Your turn

: : dy _
Find y, given that =
1
x?

. . dy
Find y, given that =
3
x*
1

y=—ﬁ+c



Worked example Your turn

Find f (x), given that f'(x) = Find f (x), given that f'(x) =
3 7
2x? 8x*
V=
6




Worked example

Your turn

. . dy
Find y, given that ~

2
Z VX

Vx

N A

Vx

| U

. . dy _
Find y, given that =



Worked example Your turn
Find f(x), given that f'(x) = Find f(x), given that f'(x) =
2 3
3vx 5vx
6 1
y = gxz + c
6
4 y = gﬁ +C
73/x
5

63/x




Worked example

Your turn

: : dy
Find y, given that ~

\/ 36x7

V25x7

: . dy _
Find y, given that =

\/ 16x8

_4 5
y=gx’+c
V9x8
1
y==x"+4c



Worked example Your turn

Find £ (x), given that f'(x) = Find f (x), given that f'(x) =
7 2

2x 10 10x 7

5
y =14x7 4+




Worked example Your turn

Find y, given that% = Find y, given thatZ—; =
39x8 33x6
11

y=18x6 +c




Worked example Your turn

Find £ (x), given that f'(x) = Find f (x), given that f'(x) =
(3x — 2)? (2x — 3)?

4 3 2
y=§x —6x“+9x +c




